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1. Chloe made a list of her homework marks.

lon

4 5 5 54 3 2 1 4
(a) Write down the mode of her homework marks.

1)
(b) Work out her mean homework mark.
38
° 3.8 ...
(2)

(Total 3 marks)

2. Peter rolled a 6-sided dice ten times.
Here are his scores.

3 2 4mammeT 5 YR EAN el
(a) Work out the median of his scores.
A 4303, 9/800,5

U2 O

(2)
(b) Work out the mean of his scores.
36
10
....... 3:6 .. .
(2)
(c) Work out the range of his scores.
........... i S
1)

(Total 5 marks)
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3. Here are the weights, in kg, of 8 people.
63 65 65 70 12 86 90 97

(a) Write down the mode of the 8 weights.

. T kg
1)

(b) Work out the range of the weights.

(2)
(Total 3 marks)

4. Here are the ages of 6 people.

P RPN S S ¢

(@) Work out the range of these ages.
5 10 )2 14 18 22

............ L SO
1)
(b) Find the median age.
....... F T
(2)
(c) Work out the mean age.
8
¢ S,
(2)

(Total S marks)
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5. Here are the shoe sizes of 6 students.

2Z 107 &# 10 9

(a) Work out the range of these shoe sizes.

(o]
26 141010 o

1)
(b) Find the median shoe sizes.
........ 8
(2)
(c) Work out the mean shoe sizes.
44
6 °
Fed
(2)
(Total S marks)
6. Jalin wrote down the ages, in years, of seven of his relatives.
a5, 380 43, 43, 4 M 2
(a) Find the median age.
'S
38,34,39,40,43.05, B 4o
1)
(b) Work out the range of the ages.
........ . S
1)
(c) Work out the mean age.
28%
L e LIS
(2)

(Total 4 marks)
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Mr Smith kept a record of the number of absences for each student in his
class for one term.

Here are his results.
0 0 o 8 4 5 5 ' 3 2 1

(a) Write down the mode.

Qo
1)
(b) Work out the mean.
28
10
L S
(2)

(Total 3 marks)

Here are 10 numbers.

3@s 1@ s W AD

(a) Find the mode of these numbers.
S
1)
(b) Find the median of these numbers.
| ,2, 2,2,2,3, Y,4,8,6
..... 13- N
(2)
(¢) Find the range of these numbers.
..... S
(2)

(Total 5 mark)
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9.

10.

Here are the test marks of 6 girls and 4 boys.

Girls: 5 3 7 3

Boys: Z 9 9 3

(a) Write down the mode of the 10 marks.

....... - S
1)
(b) Work out the median mark of the boys.
35 L Y o
(2)
(c) Work out the range of the girls’ marks.
Y - SR
1)
(d) Work out the mean mark of all 10 students.
4q
g . 0 P
(2)

(Total 6 marks)

Here are ten numbers.

76845@7@67

(a) Work out the range.

....... ©
(2)
(b) Work out the mean.
3
10 OO S
(2)

(Total 4 marks)
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11. Here are fifteen numbers.

12.

————
Ng oL Dl la ¥
-’)rl—' ZJ J L0 L —

(a) Find the mode.

......... 25 ..
1)
(b) Find the median.
...... 20 ..
1)
(c) Work out the range.
....... S
(2)

(Total 4 marks)

A rugby team played 7 games.
Here is the number of points they scored in each game.

3 S 8 9 12 12 16

(a) Find the median.

........ .
(2)
The rugby team played another game.
They scored 11 points.
(b) Find the median number of points scored in these 8 games.
..... ), F—
3)

(Total S marks)
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13. Tom recorded the shoe size of five of his friends.
Here are his results.

&8 9 3 4 7

(a) Work out the median shoe size.

3 4389

e e

(2)
Another friend has a shoe size of 8
(b) Work out the median shoe size of all six friends of Tom.
3 438889

| EaEa . ...

(2)

(Total 4 marks)

14. The mean of eight numbers is 41
The mean of two of the numbers is 29

What is the mean of the other six numbers?

sum of 8 numbers = 4Ix8
= 328

s [ S

(Total 3 marks)
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